List of things this talk will discuss:

 Comparison between yields of different Qvalue analyses:

* Phi Only QValue — Eta Side band subtraction

* Eta Only QValue — Phi Side band subtraction

* Eta Only QValue — Alternate Phi Side band subtraction
* Phi Eta

* Elliptical Subtraction
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Eta Only — Alternate Subtraction: PhiEta
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Summary of Yields

Qvalue Analysis Phi Events Eta Events Phi Eta Events
Phi Only 9147 -- 3648
Eta Only -- 7643 4429

Eta Only — Alternate

Subtraction - 7643 3487

Phi Eta 3474 3474 3474

Elliptical Subtraction -- -- 4082
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